AP Calculus Volume of Rotational Solids (ShellMethod) Critical Homework

1a) Find the volume of the solid of revolution formed by revolving the region bounded by
y=x— x> and the x-axis (0 < x < 1) about the y-axis.
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1b) Find the volume of the solid formed by revolving the region bounded by
the graphs y = x>+ 1, y=0, x=0, and x = 1 about the y-axis.
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1c) Find the volume of the solid formed by revolving the region bounded by

the graph of x = ¢’ and the y-axis (0 < y < 1) about the x-axis.




1d) Find the volume of the solid formed by revolving the region bounded by
the graphs y = x2, y = 4x — x? about the y-axis.
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le) Find the volume of the solid formed by revolving the region bounded by
the graphs y = x2, y = 4x — x?, about the line x = 4.
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1f) Find the volume of the solid formed by revolving the region bounded by
the graphs x=y?, x=4 about the line y = 6.
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2) AP MULTIPLE CHOICE EXAMPLES

1) The volume of the solid of revolution generated when the
region in the first quadrant bounded by the graph of
y = —x2 + 3x and the x-axis is revolved about the y-axis is
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2) The region in the first quadrant between the x-axis and the graph of y =6x-x? is rotated around
the y-axis. The volume of the resulting sohd of revolution 1s given by
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